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Attempt five questions in all including |
Quesﬁoh No-. 1 which is compulsory.
1. (a9 Give_ cdntriﬁﬁtions of the following : . 5x1
()  Peter Mitchell
(@ ). Sumner
(iif) -E.-Racker
(iv) Otto Warburg

. (v) R. Govindjee.

(b) Expand any five of the following : 5><'/z
(H DCMU
(# SHAM

(i) PEPCK
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(2) | 761
(iv) NADH
(v} PDH
i) PCR "
'(c) -Déﬁne the follo(ving:l 5_><1'
0 Qo
(i) “Cofactors
(iif) Nodulins
(iv) Flavonoids

(v} Anaplerotic Reactions.

() Fill in the blanks - o | Sx14
" (i) ATPase activity in mitochondria is inhibited by ........vo...... :
(i5). Glycolysis is also known as ...................... .

(i) An aquatic pteridophyte showing symbiotic association with cyanobacteria

18 v feeeereeennns . |
(iv) The & 1-6 glycosidic linkage in stal;ch is cleaved by the enzyme ................... .
(v) Phosphatase belongs to ............ TP class of enzymes. | |
2. Differentiate between any three of the following : e Ix5
" () Reversible and Irreverﬁible enzyme inhibition |
(i) C_;, and CAM plant; |
(#ify Aerobic and Anderobic Respixatiop :
(iv) Glycolysis and Gluconeogenesis

(v) Reductive amination and Transamination.
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-Comment upon any three of the fol]dwing ' . | 3x5
(H  Oxidative Pentose Phosphate Pathway
@ - Nitrc;gehase
(iify Terpenoids
(iv) Regﬂatoxy Enzyme |
' (v) Kranz anatomy.
(@) Work out B-oxidation olf a molecule of palmitic acid and give energe';i.cs of the
pamwéy. C : - | . : 9
(b) Write .complete biochemical_ rea(;,tions catalyze‘d by'any_i.hree-of'.the fc')llowing'
enzymes : g — - T Ix2
)] Cy_tochrbme oxidase. | :
@) GOGAT .
-(iff) Pyruvate kinase
(i) 'Lactate dehyd}ogenas;c
- (v). Isocitrate lyase.
.(a) With the help of a schen_latilc diagram explain the TCA cyéle and'\lvorlg' out its ene;'getics
' ._ for a molecule of glucose. - ' - - 9
(b) Give a brief account of factors affecting photosynthesis, ' 6
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(@) Give a detailed account of the élyoxylate pathway. | 9
(b) Acetyl CoA is a hub of metabolic activity in the cell Elaborate. | 6
Answer the following using chemical formulae (any wo) : : - 2x3

(i) Synthesis of a sucrose molecule.

(!'l;) Substrate level phosphorylation for th.e synthesis of ATP molecule. (any one. example)
(iid) ShO\;v activation of a fatty acid lﬁolecule for B-oxidatfor}.

(liv) Synthesis of Asparagine from glutamine. _-

(@) © Write an explanatory note .on the role of ‘éecc.mdaxy metabolites in pianf defense. 9

(&) Photorespiration is not a wasteful process. Justify. =~ _ ' 6



